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General Instructions :

1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3. For the objective type of questions, you have to choose any one of the four alternatives given in
the question, i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

4. All the questions including objective type questions are to be answered within the allotted time
and no separate time limit is fixed for answering objective type questions.

5. Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

6. Write your Question Paper Code No. 64/0S/2, Set on the Answer-Book.

7. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can

answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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SCIENCE AND TECHNOLOGY
ELERER BUUED)
(212)

Time : 2% Hours | [ Maximum Marks : 85
qUT : 25 §0C | [ quTie : 85

Note: (1) All questions are compulsory.
(2) Marks are indicated against each question.

fRw: (1) wfiy e g |
(2)  Tch I % Iieh IHh T feu U F |

1.  Which one of the following is not a sign of good mental health ? 1
(A) Control over emotions
(B) Pleasant personality
(C) Balanced feelings and desires
(D) Ability to accept the realities of life and face them

frfefiga @ 9 7 o1 AT &9 8 W g %1 Hohd T8l @ 7

(A) TTE O

(B) o safedea

(C) wferd HefgTd 3T g=ad

(D) Sited =ht aRAferehdTatl ! TiehR hid 3TR 3ehT ATHAT i shi &THdT

2. After taking our bath we generally use a cotton towel to soak water on our body. The
towel soaks the water from our body because of 1

(A) fluidity of water

(B) capillary action of water

(C) polar nature of water

(D) high density of water as compared to cotton cloth

M T < IYETd g0 YR 39 IR § T Ji@H o o7 gt ifer™ 31 3u=IRT shid
2 | AT g gAn IR W 8 9 S T HRU R

(A) T hT AT

(B) U <t ShidTeheal Tk

(C) Ot o1 gefter repfet

(D) it U hl T H ITHT 3l B Hfeeh BT

64/0S/2/212-A 3 [Contd...



3. An artist uses lead pencil for making sketches. The lead in the pencil is in fact
(A) Lead (B) Charcoal
(C) Carbon black (D) Graphite
Tsh HATHR @1~ s & Tore g 6t Ufiret o1 =i it 2 | =18 Ufret o1 go arad
HEMAIR :
(A) 8 (B) <RIA
(C) FEH =AH (D) I1Ee

4. Which of the following statements is not true in respect of Dalton’s atomic theory ?
(A) Matter consists of tiny indivisible atoms.
(B) Atoms are indestructible.
(C) Different chemical elements have different kinds of atoms.

(D) Atoms lose their identity in chemical reactions.

Tee o ] frgrd < Fed # frafafaa s A s wm e vt 121 2 7
(A) Zo qEH ST T3 & SR |

(B) wRHTY] 3TferTeft § |

(C) o= Tremaforss aait o Ty T - A i B F |

(D) RHTY] TERIeh SATTshenati # 7ol vgem @i e & |

5. When a dust storm comes suddenly, our eyes are closed involuntarily. This reaction is

controlled by :
(A) Medulla Oblongata (B) Spinal Cord
(C) Cerebellum (D) Cerebrum

el T ST g ohl ATl ST & T FART G A& Wa: §¢ &l A & | TG Fclsha
forae gru fefa e 2 ¢

(A) BT TecATIT (B) HE-T
(C) IrgafETsh (D) YHfETsh
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6.  The main cause for the deterioration of white marble of famous monument ‘Taj Mahal’

is : 1
(A) Ageing of the marble (B) Dust in the environment
(C) Acidrain (D) Green house gases

oG T ATTIEA o Hthe HTHTH i &fd U5 1 J&T SN 2 :
(A) TITHET T 3TfIeh QUHT EHT | (B) STATER | ¢t BT
(C) Irefig Tt (D) &ha T M

7. The figure below shows displacement versus position graph of a wave emitted by a

source at ‘0’ in 3s. The velocity of the wave is : 1
(A) 3ms! (B) 2ms™!
(C) 1.5ms™! (D) 6ms’!

T fomt i formg <07 R 8 U &1 g 3s H et o ot foremaq - feafa ok geiter mm
BlamHaAng :

(A) 3ms’! (B) 2ms’!

(C) 1.5ms™! (D) 6ms™!
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8. We daily brush our teeth using a tooth paste. The nature of tooth paste is generally -

(A) Acidic (B) Alkaline

(C) Corrosive (D) Neutral

B Wdfe 379 Qidi bl ¢ U o1 ST L 5791 hid & | FTURUTAT ¢ U 3hl Thid Biel &
(A) T (B) &

(C) wamF (D) JewH

9. The main aim of a tailor for oiling his sewing machine is to -
(A) protect its parts from dust and moisture.
(B) protect its parts from rusting.
(C) reduce friction among its parts.

(D) absorption of heat produced during motion of its parts by the oil.

Teh ToeT ot ool g 37oe fierrs efie o el o 1 qeE S R
(A) T3 % Tewgi ol ge1 3K Tt & 5= |

(B) W3 o Tl &l ST &7+ & &= |

(C) wfiA o Towdi o udur 69 T |

(D) WA o &l & et % HIOT S~ ISHT T et gRT ST |

10. The curd is said to contain bacteria good for human health. To which kingdom of life

these bacteria belong ? Write two characteristic features of these bacteria.
el ST & Toh T8l H UH ST BId & S H-d Ty & [T AT99E & | I8 S siaq
h hIH § ST © FEMd & 7 3 SaI a1 shi g1 SAferegioren fomivard sarsv |

11. Differentiate between ‘Emulsion’ and ‘Aerosol’. Give one example of each.

R 3T TIUETA o 19 A 9d13T | Tedeh ohl Ush—TUeh 3T ST |

12.  Why does ice at 0°C cool our drinks more effectively than water at 0°C ? Explain.

0° C I F%, 0° C o I 31 o1 H FHR U 1 T 376 38T hidll & 7 ST HIRT |
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13.

14.

Differentiate between ‘Emigration’ and ‘Immigration’. What is their role on the size of

the local population ? 2
T 3R ITTATE o &1 ST TAT3T | THIT S o TR Fafer # geh! =i yfieh
87

Why does a paratrooper use a parachute to descend slowly after jumping from a
height ? Explain. 2

hIs B -Hih fohell HaTS 8 R o weard dR-R = 37 o fore Twpe 1 TR F1 HLal 8

15.

16.

17.

? ST I |

Draw a ray diagram to show that a convex lens can act as a magnifier for object lying

between its focus and optical centre. 2
Th feRtuT 3TRE ST I8 SIITST Toh Ueh 30T oiF 319 Wik 371 JehTITeh heg, o o L&l
& o foTu 3TTaeies 1 1 HAT 2 |

Why is ‘hypertension’ considered a disorder related to circulatory system ? Write any

two of its symptoms. 2

‘I TFACTE 1 UIE=NU 9 § GeUd foehR &1 HHT SITa1 2 ? S5 IS o equ foiia |

(a) Classify the following under base unit and derived unit :
(i) m'and (i) st

Which physical quantities do these units belong to ?

(b) Derive SI unit of pressure in terms of base units. 2+2
(a) THAfIREd S STURYT AT TUT e~ HAeh H Siehd hITaIT ;
(i) m! au (i) s

3 Hroreh Topar-fora sfiferen Tist & weifera & 2
(b) TS SIHTA hl JHTUTT HIFh o &Y H e~ HIT |
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18. A person is suffering from low grade fever, cough, blood in sputum, weight loss, chest

pain and excessive fatigue for more than 25 days.

(a) Identify the disease he is possibly suffering from.

(b) What is the cause of the disease ?

(c) Isthe disease communicable or non-communicable ?

(d) What precautions should be taken to prevent the disease ?

s Afea 25 fe @ s v @ T am s, @i, o ° W@, 999 § S, o | g
AT TTTH ehTae | UTHd 2 |

(a) 39 fed o THTeId AT bl Y&=H I |
(b) 9 TNT h B 1 T HRT BT & ?
(c) o1 I HshTHeh T & AU AHhHh ?

(d) 3T T T Uk o T o wraent==t s =nfay 2

19. (a) Identify the organic compounds described below and draw their structures :

(i) The organic compound which is used to preserve biological specimens in
laboratories.

(i1)) The organic compound which is used to ripen the fruits such as banana and

mango.

(b) Name the organic acids present in (i) Vitamin C and (ii) Citrus fruits
(a) = afvta srefTes AR St Taam HIT TUT 376 T Gifaw

(i) I8 HES Aes T8 yEmemen § Jfas Tg31 & T & foe 3w § @
ST R |

(i) & P AfTeh ST el o 3T W el b o TIT ITANT T A1 AT R |
(b) (i) foerfim C 3R (ii) Rrga weft # HiS[g HTeifeh 37! o I TS |
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20. Draw Transverse Section (TS) of a bisexual flower. Identify and label the parts having

the following description on it :

(1) the part which carries ovules or female sex cells

(i1) the part which bears pollen

(ii1)) the female part from where pollen enter for fertilization 4
T WAt gou <ht ITTE-h1e 1 fot it | 50 fam ° = aftfa vt 1 ggem
TETeRd ShITT ;

(i) =@ v e srved =1 w1 I B € |

(ii) o8 Wit forges Wiat Wt 2ia § |

(iii) I8 TTET 9T &1 & TTAThvT F8= o fofe yawr shid 2 |

21. (a) Can abody moving with constant speed still have acceleration ? Explain with the

help of an example.

(b) Explain the concept of ‘action’ and ‘reaction’ in Newton’s third law of motion
with the help of an example. Can ‘action’ and ‘reaction’ act on same body ? Give

reason for your answer. 4

(a) 1 feR Tre @ iasfiar five o ot 81 gehar 8 7 3eTe ot TEraT & e Hif |

(b) I % (A < AT I H Hehod 13Tl R 9 “Widfsham’ o1 SATEAT Teh 3CTa gl
T | < fspam 3 ufefshan v & five W o Tehd 8 7 310 3T o foTw e
T3 |

22. (a) An electric iron has markings 220 V — 50 Hz and 1 kW on it. Explain the significance

of these markings. Can this electric iron be used both on AC and DC ? Give reason.

(b) Calculate the resistance of the heating element of this electric iron. 4

(a) U foegd s&all W 220 V — 50 Hz 31 1 kW fagiferd 8 | 37 faal & wea 1
TUTEY | 1 39 faga sl S TR AC 3R DC gFi B R ST gehdr 8 2 SR
T3 |

(b) 39 foea s%adl o AT Uletde o Wfatie =ht o i |
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23.

24.

25.

26.

Why are metals electropositive and non-metals electronegative in nature ? Name one
ore of zinc metal. Describe the process of obtaining zinc from this ore with the help of

chemical equations of the reactions involved in this process.

Tq g -Tergelt 3TR 314Tq 0T foreet Shfdl shl &1 Bict & ? 5o 9Tq o Teh 3TIh I A1
FARY | 39 AIEH O b 9w I ST 1 aviE, Uik # ued 9ol tHEie
STffoRaTat o FefieRtoni <hl TErIal § I |

Differentiate between mixed cropping and multiple cropping. Why is mixed cropping

and multiple cropping considered better from the perspective of food security ?

i3 et 3R 95 woeided H <R Farsy | Wi St 3R 95 wecicre i @re e
e qIERF AT A@IR ?

What is ‘Redox reaction’ ? Explain redox reaction in terms of electron transfer with the

help of an example. Also explain what are oxidizing and reducing agents.

LSt rfuforan oo 8 7 YeTad ATkt o1 Solael afed TR g1 o Ugl | Ueh 3Tator
HEEA § GHHATSY | 3T 31T 3793 shi o =men hifs |

(a) What is chemical name of baking soda ? Write its chemical formula. Name the

raw material required to manufacture baking soda.
(b) What is baking powder ? Why is it used in the preparation of cakes ? Explain.

(a) ST HIST ST THRS I T 8 7 $EH1 TS FF IRaT | 380! s o fog
AT Gt o 19 FaT3T |

(b) SfFTURSSIRTE ? heh ST T SHHT STATT FAT fhaT AT & 7 SHTEAT HIfT |
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27. (a) An element ‘A’ has atomic number 12 and element ‘B’ has atomic number 8.

What type of bond they will form ? Give reason for your answer.

(b) Explain the property of the compound formed by elements A and B with respect

to its electrical conductivity. 4
(a) Th ad ‘A’ I TH] G 12 8 qUT T ‘B’ H WA T 8 7 | $Ib o= §
iR & fore Y™ o1 STTEY T 7 379 I o foTT SIR0T SaTsy |
(b) T ATUad B s AR & o7 aTet AfTeh o1 qure saeht foregd =merehal o
HeH H FHETsy |

28. (a) What are genes ? State their chemical nature. Name the genes acquired by a child
with blood group ‘O’ from his parent.

(b) What is genetic disorder ? Name two genetic disorders and write their symptoms.

(c) Why is colour-blindness found mostly in boys ? Explain. 6
(a) S FTERE ? SR TEERER THd TATTT | T TG ‘O’ % s= g 3T A1ar-fran
T T ST b T §amsy |

(b) SR fohR 91 BIaT 8 2 €1 SAAMRIH IRl < 1 SaTgy 3R 3 @art ferfaw |
(c) UMY QY kel TTSeh! § &) 1 IR A1 & ? HHATST |

29. (a) State the principle of working of a generator. Draw a labelled diagram of D.C.

generator.

(b) What changes should be made in the structure of D.C. generator to increase the

strength of current generated by it ?

(c) Why do we mention frequency of alternating current but not that of direct

current ? 6

(a) Togga S 6 Frifafa & fagra St =men Hifse | v g am St 1 amifea
@it §A15T |

(b) Tew am I gRI 3= 910 1 U §@H & foTu 3Hehl Tt U 1 iedd oA
=R, ?

(c) W had TcTad! O <ht € ST T Ieoi R H & ST eh 8 G hl SR 1
Ieeid &l Al ?

64/0S/2/212-A 11 [Contd...



30. (a)

(b)
(c)

(a)

(b)
(c)

State the postulates of Bohr’s model of atom. How does this model of atom

explain the stability of atom ?
Explain the difference between Bohr circular orbit and energy shells of an atom.

The atomic number of an element ‘A’ is 10. Distribute the number of electrons in
its different energy shells and find its valency. Will element ‘A’ react with other

elements ? Give reasons for your answer.

TR o TLATY] AiSe i STTURUMY FATST | 98 AT Hise O] i Feeran i samen
Y AT ?

SR HiSH I I HEAS TN TV <6 IHoll Jord B H S THATET |

T ‘A’ ST THTY SHETH 10 8 | 38k (A= Sl aTet hIoil | SorarHl <hl §&IT i
forrstt <hIfTT 37l e <hl EATSTehel ST <hIT | T el A’ 311 el | ATHToRa
AT ? 3T I oh [T HRVT FAT3T |
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(212) Ik

Time : 2% Hours | [ Maximum Marks : 85
qUT : 25 §0C | [ quTie : 85

Note: (1) All questions are compulsory.
(2) Marks are indicated against each question.

fRw: (1) wfiy e g |
(2)  Tch I % Iieh IHh T feu U F |

1. Which one of the following is a sign of good physical health ? 1
(A) Self-confidence (B) Balanced feelings and desires

(C) Energetic and alert (D) Pleasant personality

Frfafiaa @ @ % o1 a1 3= T W T HHhd B ?
(A) 310 3T | HATcATREE (B) HfeTd TagATd 3R 3=uTd
(C) rferasrreft ST @ (D) e ==fdae

2. When a dust storm comes suddenly, our eyes are closed involuntarily. This reaction is

controlled by : 1
(A) Medulla Oblongata (B) Spinal Cord
(C) Cerebellum (D) Cerebrum

el S STETe g i ATl ST & a9 FHRT 3G e Wa: §¢ & Wt & | Tg Siafsha
foperh g faPa B 8 2

(A) Tga e (B) we-Ts]
(C) IrgafETsh (D) vHfETsH

ErE
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3. Which of the following statements is not true in respect of Dalton’s atomic theory ?
(A) Matter consists of tiny indivisible atoms.
(B) Atoms are indestructible.
(C) Different chemical elements have different kinds of atoms.

(D) Atoms lose their identity in chemical reactions.

STee o WATY] rgr o Hew H freaferfiaa i 4 8 o 1wy ad 78 8 7
(A) T qe&H TSI T3 § S 7 |

(B) wemY] 3rfermeft § |

(C) Torm-fm Tremaforss aait o Ty T - A i B F |

(D) RHTY] TERIeh SATTshenati # 7ol gem @i g & |

4.  Rain drops are spherical in shape because of

(A) surface tension of water (B) capillary action of water
(C) polar nature of water (D) higher density of water
TN <l §f¢ AR B & | SR HRVT 7

(A) 9T 1 I8 T (B) it <kl hf3reheat wfsha
(C) O T gt wehfa (D) U T IR T

5. We daily brush our teeth using a tooth paste. The nature of tooth paste is generally -

(A) Acidic (B) Alkaline
(C) Corrosive (D) Neutral
B TS 3T Sfdl ol 71 U 31 TN X SI91 hAd 8 | MU 28 U <hl Tehl Bil 8
(A) A (B) &=
(C) WS (D) e
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6.  The figure below shows displacement versus position graph of a wave emitted by a

source at ‘0’ in 3s. The velocity of the wave is : 1
[ i ]
E [Y

(A) 3ms! (B) 2ms™!

(C) 1.5ms™! (D) 6ms’!

T fomt 1 fomg <07 R T2 U &1 g 3s H Ieioid A ot foremae - et Imh gt Tmam
BlamHIaAng:

(A) 3ms’! (B) 2ms’!
(C) 1.5ms™! (D) 6ms™!
7. The main aim of a tailor for oiling his sewing machine is to - 1

(A) protect its parts from dust and moisture.
(B) protect its parts from rusting.
(C) reduce friction among its parts.

(D) absorption of heat produced during motion of its parts by the oil.

Teh TS T aTed g 7o firetts wefier o o o o1 Jed 32 ¢
(A) T3 & Tewgi ol ge1 3R Tt & 5= |

(B) W3 o Tl &l ST &< & &= |

(C) W= o Tl | =1 o6l AT |

(D) WA o &l & et % HIOT S~ ISHT T et gRT ST |

ErE
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8. Which one of the following is used in making rubber tyres for automobiles ? 1

(A) Graphite (B) Carbon black
(C) Coke (D) Activated charcoal

3T o Tohureh! WaTferd aTeHt o T SR S B 9N H 11 AT 8 7
(A) TrEe (B) e i

(C) Ik (D) HfshRra cTehg! ST SHITet

9.  The main cause for the deterioration of white marble of famous monument ‘Taj Mahal’

is : 1
(A) Ageing of the marble (B) Dust in the environment
(C) Acidrain (D) Green house gases

Ifeg T ATTIEA o Hthe HTHTH i &fd U5 1 J&T SN & :

(A) TTHTER <1 3fereh GO BT | (B) TRl H ¢et &I
(C) T (D) &id T 1
10.  Why does ice at 0°C cool our drinks more effectively than water at 0°C ? Explain. 2

0° C <t &, 0° C & T 6 GoiT H FHR U I 1 371 38T hid! & 7 STREAT HITT |

11. Differentiate between ‘Emigration’ and ‘Immigration’. What is their role on the size of

the local population ? 2
JTETE 3T ISTATH o S 3T TATFY | TAF GG b TR LR | 376h! T et
87

12. Differentiate between ‘Foam’ and ‘Aerosol’. Give one example of each. 2
B (HANT) 3T TIUETA o 19 TR 918U | Tcdeh bl Teh—Teh 38T ST |
64/0S/2/212-B 6 e

OO



13. Why does a paratrooper use a parachute to descend slowly after jumping from a
height ? Explain. 2
#1E T -8 R S & et % oA R A o ¥ fore e B S
HIAT R 7 ARSAT HIT |

14.  Name the phylum to which the ‘Earth-worm’ belongs to. Write characteristic features of
this phylum. 2
HYAT TohT HTgTH W HEIIA & 7 30 IS o HATemTeriores forivard fafew |

15. Why is ‘hypertension’ considered a disorder related to circulatory system ? Write any
two of its symptoms. 2
‘T Tedere o UTCEEl o B Heifird fereh o1 AT ST ] 7 98k S ol eiequ frfag |

16. Draw a ray diagram to show that a convex lens can act as a magnifier for object lying
between its focus and optical centre. 2
T foRtUT 3TRE ST I SIIST Toh Teh 3T o1F 319 HIhd 3T TEhITTh e o sfie TEl
& o foTu 3Taeies 1 1 AT 2 |

17. A person is suffering from low grade fever, cough, blood in sputum, weight loss, chest
pain and excessive fatigue for more than 25 days.
(a) Identify the disease he is possibly suffering from. ErE
(b) What is the cause of the disease ? [=0:
(c) Isthe disease communicable or non-communicable ?
(d) What precautions should be taken to prevent the disease ? 4
s Afe 25 fea @ 1o v @ T am s, @i, o ° @, 999 O S, o | g
YT ST Yehrde 8§ TRA 2 |
(a) 39 fed o TYTeId AT bl &= I |
(b) S TNT < & <hT AT ST BT 2 2
(c) oRIT g HshTHeh TN & ST TP ?
(d) 3T T T U™ o T o wraent==t s ey 2
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18. (a) Classify the following under base unit and derived unit :
(i) m'and (i) s
Which physical quantities do these units belong to ?
(b) Derive SI unit of pressure in terms of base units. 2+2
(a) TR I STURYA T qUT Fed— AT H Ffiehd hIfIT :
(i) m! T (i) st
3 " fohe-ferg wiiferes T & wafea 8 2
(b) TS SIHTA ohl U HIFhI o &Y H e~ HIT |
19. Why are metals electropositive and non-metals electronegative in nature ? Name one
ore of zinc metal. Describe the process of obtaining zinc from this ore with the help of
chemical equations of the reactions involved in this process. 4
Tq g -Torgelt 3TR 314Tq 0T foreet Shfdl shl &1 Bict & ? 5o 9Tq o Teh 3TIh I A1
FARY | 39 IEH ° b 9w il SR 1 aviE, gk # ued 9l tHEie
FrffsRaaTi o Tfientunt i FeTraT | ShifT |
20. Differentiate between mixed cropping and multiple cropping. Why is mixed cropping
and multiple cropping considered better from the perspective of food security ? 4
Thisa @t 3R 95 wAlcared § 311 9a1sQ | Fia Wl 31 95 wHaicare ol e gee
1 ¥ T gt F AT AT 2 ?
21. (a) An electric iron has markings 220 V — 50 Hz and 1 kW on it. Explain the significance
of these markings. Can this electric iron be used both on AC and DC ? Give reason.
(b) Calculate the resistance of the heating element of this electric iron. 4
(a) T fIgd &l W 220 V — 50 Hz 3R 1 kW Toiferd 8 | 37 el & #g<a =l
TUTEY | 1 39 faga sl @1 TR AC 3R DC gFi § R ST gehdr 8 2 SR
9d15q, |
(b) 39 forea st % At wferdie 3 wfadie 6t momn Hifse |
[ i ]
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22. (a) Whatis chemical name of washing soda ? Write its chemical formula.

(b) Name the raw material required to manufacture washing soda. How is washing
soda obtained from baking soda ? Explain with the help of chemical equations of
the chemical reaction involved in this process. 4

(a) e HIST 1 TERATh 10 17 7 39h1 THRI g ferfan |

(b)  GTSH FIST S o foTT 3Trerwereh At o AT SATST | GTa WISt i SfehtT Hist § Hd
T foham ST 8 7 39 UhhAT H HeH aTell YOS AR O gefud tHEe
GHehToT <hl TERAT § SATEAT shiTou |

23. Draw Transverse Section (TS) of a bisexual flower. Identify and label the parts having
the following description on it :

(1)  the part which carries ovules or female sex cells
(i) the part which bears pollen

(ii1)) the female part from where pollen enter for fertilization 4
Teh VAT Io0 hl TR -h1e 1 o Gitaw | 30 fa= # = aftfa vt 1 ggam
TETeRd I ;

(i) a8 9 e 37vgy a1 9Tl IHH Bid § | -

(i) a8 9T ek iat wrTeR 8 2 | b

(iii) < TeT WIT &l & WrTehvl f8=H & foe Tas hid £ |

24. (a) Identify the organic compounds described below and draw their structures :
(1) The organic compound which is used as vinegar.

(i1)) The organic compound which is used along with oxygen in oxy-acetylene
torch employed for welding.

(b) Name the functional group present in following organic compounds :

(i) HCHO (i) CH,-CO-CH, 4
(a) = Ifofd hrefes AifiTent 6t Ug= SHIfSTT qeT ekt Bi=-T Gifu :

(i) 9% e AMieh fod Fweht o AT & 3T | SR ST & |

(ii) 9 HrEfTeh AT TTE SATRieH o a1 tfad-TEfecta weme | afee @ fau

IR H AT AT R |
(b) Tr=ferRaa sl Aifieni § & T | IUTRIT ST THg! o AT TS :
(i) HCHO (i) CH,-CO- CH,

ErE
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25. (a)

(b)

(a)

(b)

26. (a)

(b)

(a)

(b)

An element ‘A’ has atomic number 12 and element ‘B’ has atomic number 8.

What type of bond they will form ? Give reason for your answer.

Explain the property of the compound formed by elements A and B with respect

to its electrical conductivity.

T qd ‘A’ <l UTHIY] TE&T 12 § qUT a7 ‘B’ S THIY] TEAT 8 B | Tk S H
TR | TohT TR T 3TEE ST ? 379 3T o foTU hIoT §aTsT |

T A A1 ad B o o= Stk & s aret Jifires o1 qurend sueh! for]a ametehdt o
HeH H FHgTsy |

Can a body moving with constant speed still have acceleration ? Explain with the

help of an example.

Explain the concept of ‘action’ and ‘reaction’ in Newton’s third law of motion
with the help of an example. Can ‘action’ and ‘reaction’ act on same body ? Give

reason for your answer.

o1 TR =Tt © Tt fove o ovur 81 TehdT 2 7 31801 shl Ugridl § IRl <hIfT |

e o T o JA T H HepeuiaTl TRAT 9 wiafsRaT i SATE T 3 g
hifere | = foram 37t wfefera T € fuvg W Ht Hehd & 7 379 I 6 foiw swror

ERIEL

27. What is ‘Redox reaction’ ? Explain redox reaction in terms of electron transfer with the

help of an example. Also explain what are oxidizing and reducing agents.

(ST AR /1 & 7 (S STTTsRaT i Soiag Afed 3R T % TG1 H Teh IGTal hi
HERIAT ¥ GHETSY | ST 3T 3T i off s hifsu |

ExE
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28. (a)

(b)
(©)

(2)

(b)

(c)

29. (a)

(b)

(c)

(a)

(b)

(c)

State the postulates of Bohr’s model of atom. How does this model of atom

explain the stability of atom ?
Explain the difference between Bohr circular orbit and energy shells of an atom.

The atomic number of an element ‘A’ is 10. Distribute the number of electrons in
its different energy shells and find its valency. Will element ‘A’ react with other

elements ? Give reasons for your answer.
SR o TTY] Hige shi STTUROMY FATST, | g AT Hige qLHTY] <hi FeraT i s
HY HAT R 2

S AT ohl I HETHT TAT THTY b Holl o IR H TR THIATET |

T ‘A’ ST THTY SHETH 10 8 | 38k T Sl aTct ISl | SorarHl <hl §E&IT i
TfawTS ShIRTT 3R shi ISRl FTd HINT | 1 T A’ 3T awil § TR

HUT ? 379 I b AT HROT Fd18T |
EEE
EI.

What is DNA molecule ? Describe its physical structure.

Explain the three major steps in DNA replication. Why does DNA have to be

replicated before cell division ?

Why is DNA finger-printing considered as a fool proof test to identify a criminal

by the police ? Explain.

LA A T 7 7 FEh! WHfeh TTEAT 1 IUM HIT |

E1.0A.T, Wferpfa o i T =Ron <hl AT ShifTe, | hifTehT fawrei & vaet €. .
fcTehcTehtoT SR hdT & ?

gfers grr iR i ugem | €uA.u. fem-fafen v wéie wderor o | ST
? 7 = il |

64/0S/2/212-B 11 gﬁ [Contd...



30. (a) State the principle of working of a generator. Draw a labelled diagram of D.C.
generator.
(b) What changes should be made in the structure of D.C. generator to increase the
strength of current generated by it ?

(c) Why do we mention frequency of alternating current but not that of direct

current ?

(a) Toga wfe & weifafy & fagma ) smen Hifse | v oz am sfe & Tmitea
T@fer ST |

(b) Tew am I gRT 3= 90 1 U §@H & foTu 3Hehl AT U 9 iedd o
ELE

(c) &m Sherel el I Bl € STt B SeevE i e § wfeh fE e Y S
3eoTE TEl A ?

64/05/2/212-B 12 S
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1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

3. For the objective type of questions, you have to choose any one of the four alternatives given in
the question, i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

4. All the questions including objective type questions are to be answered within the allotted time
and no separate time limit is fixed for answering objective type questions.

5. Making any identification mark in the Answer-Book or writing Roll Number anywhere other
than the specified places will lead to disqualification of the candidate.

6. Write your Question Paper Code No. 64/0S/2, Set on the Answer-Book.

7. (a) The Question Paper is in English/Hindi medium only. However, if you wish, you can

answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Odia, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in
the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the questions will be yours only.
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T FFa :

1.

2.

TiETeff TeI o UEel I8 W STHHT STHAT 3Tavd o |

ST ST I SATe o o SO % B IET AAT AT 1 I & T 2 faf wem g 6
TEE S B & | 39 91 o A1 i LA Tob T SR T H 2 |

TS Tl | el TR fomhedi (A), (B), (C) YT (D) H ¥ 15 Uk I AT & adT @
g ITR-Yfeqept § 3119 Tl I feAfa |

SIS T % wr g gt gei o So i ety % fiaw € e § | aegi g %
e srem | wm =& foan s |

I -YfEaehl ¥ Tga-Tog s 3rere fafdy i & stfafed wet oft st fogs w
Teneft bt ST SETAT R |

HU STR-GEThT T IS shl hig HEAT 64/08/2, 82 [ C | ford |

. (F) TS haet &/t | B | TR oft, =fe ot =g ar e & s Tt we vy H

SR :
s, f&dl, 3§, a9, e, aid, AoEed, wee, da, Sel, She,
TSI, hishUM, WOTGL, STEMHT, FaTell, HIdil, T&ha 3R & |

FHUT ITR-YfETeR1 1 feu e s | ford foh s fpg v H s fer@ w 2

(@) e 319 &) ua 37Ul o i foret 3/ wer 3T fot@d @ a1 I3 bl o9
T g areft et / Terforn ot friert sheer smaeht gt |

10}
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SCIENCE AND TECHNOLOGY

ELERER BUUED)
(212)
I_gl' 10
Time : 2% Hours ] El% [ Maximum Marks : 85
U : 2 TS | [ quTie : 85

Note: (1) All questions are compulsory.
(2) Marks are indicated against each question.

fRw: (1) wfiy e g |
(2)  Tch I % Iieh IHh T feu U F |

1. We daily brush our teeth using a tooth paste. The nature of tooth paste is generally - 1
(A) Acidic (B) Alkaline
(C) Corrosive (D) Neutral
B Wdfed 379 Gidl bl ¢ U 1 ST hL §T91 hId & | FTUROTTAT ¢ U 3hi Tohid Bl &
(A) T (B) &
(C) wewh (D) e
2. The main aim of a tailor for oiling his sewing machine is to - 1

(A) protect its parts from dust and moisture.
(B) protect its parts from rusting.
(C) reduce friction among its parts.

(D) absorption of heat produced during motion of its parts by the oil.

Teh TS i ool g 7o firetts wefier & o o o1 Jed 32 B
(A) T3 & Tewgi ol ge1 3K Tt & 5= |

(B) HefH o f&edi &bl 571 o | S |

(C) WM o Tl # Breior 6 T |

(D) WA o &l & et % HIUT S~ ISHT T et gRT ST |

ErE
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3. Which one of the following is not the sign of good social health ?
(A) Positive attitude towards life (B) High level of intelligence

(C) Healthy interpersonal relationships (D) Fulfils responsibility towards others

frerferfiaa 5 & w1 A1 3o TS Tz o Hehd TEI & 7
(A) ST o Wi FhRIcHe T

(B) Sfgu o1 3= &

(C) 3= AT o T 3= T TGHT

(D) & o Fid 39 ITGIIAI hl T HLAT

4. The Dal lake in Srinagar, Kashmir freezes in severe winter but the aquatic animals

living in it do not die because -

(A) of surface tension of lake water ~ (B) water has highest density at 4 °C

(C) water is universal solvent (D) of polar nature of lake water
31ca=a wel o T, eIt o get siet S ST R eifeh 36w T8 el Siefld St 72 7ed § |
SEhT BT

(A) 3 o 9T 1 I8 THE (B) U % T T 4 °C T 3ATIehad BT

(C) O 1 | foreTrIeh BT (D) 3t o 9T <Al Yt SRl

5. The figure below shows displacement versus position graph of a wave emitted by a

source at ‘0’ in 3s. The velocity of the wave is :

(A) 3ms’! (B) 2ms’!
(C) 1.5ms™! (D) 6ms™!

M
64/0S/2/212-C 4 :-,{,&



T formt i formg <07 o 8 U &1 g 3s H et axw ot foremaq - feafa ok giter mm
BlamHaAng :

(A) 3ms! (B) 2ms™!
(C) 1.5ms™! (D) 6ms™!
6.  Which of the following statements is not true in respect of Dalton’s atomic theory ? 1

(A) Matter consists of tiny indivisible atoms.
(B) Atoms are indestructible.
(C) Different chemical elements have different kinds of atoms.

(D) Atoms lose their identity in chemical reactions.

STee o WATY] rgr o Hew H freaferfiaa i 4 8 o 1wy ad 78 8 7
(A) T qe&H TSI T3 § S 7 |

(B) Ty et § |

(C) o= Tramaforss aait o Ty T - A i B F |

(D) TTY] TrErfeh Jrfifshanati § ot vgem @i ¢ £ |

7. The main cause for the deterioration of white marble of famous monument ‘Taj Mahal’

is : 1
(A) Ageing of the marble (B) Dust in the environment
(C) Acidrain (D) Green house gases

oG T AT o Hthe HTHTH i &fd U5 1 J&T SN 2 :
(A) TITHTE T T TOHT EHT | (B) STATER H g BT
(C) 3T awt (D) Bha e M

ErE
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8. Which one of the following is widely used in water purifiers for adsorbing coloured

impurities and bad odours from water ?

(A) Coke (B) Carbon black

(C) Graphite (D) Activated Charcoal

frefafaa § @ #F ot & i a9 § s w9 8 i fierreae 3 g6 g w1 g |
T e % fote 3w & AT AT R ?

(A) Hh (B) e =k

(C) T®Ise (D) wfshid TTehg ST e

9. When a dust storm comes suddenly, our eyes are closed involuntarily. This reaction is

controlled by :
(A) Medulla Oblongata (B) Spinal Cord
(C) Cerebellum (D) Cerebrum

e St STETe g <hi ATl ST & I FHRT JIE e Wa: §¢ & Wt & | Tg Safsha
foraeh gru fefa e 2 ¢

(A) Tga s (B) we-Ts]
(C) IrgafETsh (D) vHfETsH

10.  Which kingdom of life does bread mould belong to ? Write any two characteristic

features of this kingdom of life.
ST ST e STa o i & ST & HETId B 7 S{a o 38 STd <hl IS al ST,
fereryamd fafaw |

11. Differentiate between ‘Emigration’ and ‘Immigration’. What is their role on the size of

the local population ?
T 3R ITTATE o &1 ST FAT3T | THIT SHE 6 TR Fufer # geh! =i yfieh
87

ErE
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12.  Why does a paratrooper use a parachute to descend slowly after jumping from a

height ? Explain. 2
15 Bal-dfeh foret ST | R o TvaTa FR-oR = 3 & fofw Tspe w1 3w w9
FHLAT R ? AT HINT |

13. Differentiate between ‘Gel’ and ‘Emulsion’. Give one example of each. 2
A’ IR FHeIH' () § T FATST, | T h1 Toh-Teh 3T ST | %E,%

14. Draw a ray diagram to show that a convex lens can act as a magnifier for object lying

between its focus and optical centre. 2

Teh ToR{uT 3T TR I8 13T foh Teh It 1T 379 Bishy 37T Teh113Th oheg o o1 Tl
& o foTu 3TTaeies 1 1 HAT 2 |

15.  Why does ice at 0°C cool our drinks more effectively than water at 0°C ? Explain. 2

0° CH1 I, 0° C o I 31 o1 H BHR U 1 T 376 38T hidll & 7 ST HIRT |

16. Why is ‘hypertension’ considered a disorder related to circulatory system ? Write any

two of its symptoms. 2

‘I TFACTE 1 TNE=NU 9 § Geid foehR o1 HHT SITa1 2 ? 5% 1S & equ foiia |

17.  Why are metals electropositive and non-metals electronegative in nature ? Name one
ore of zinc metal. Describe the process of obtaining zinc from this ore with the help of

chemical equations of the reactions involved in this process. 4
o1q 9Tt 3R 31aTg wor-Tagget wohfa 1 =i gl @ ? T 91q % T 7%k &1 AW
FARY | 39 AIEH O b 9w il SR 1 aviE, gfk # ued el tHEie
srfuforenai o wxfieRton <t grrar | i |

ErE
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18. A person is suffering from low grade fever, cough, blood in sputum, weight loss, chest

pain and excessive fatigue for more than 25 days.

(a) Identify the disease he is possibly suffering from.
(b) What is the cause of the disease ?
(c) Isthe disease communicable or non-communicable ?
(d) What precautions should be taken to prevent the disease ? 4
U Ao 25 fe & rferes gy | f= am sov, @TH, o | W@, 9o | ST, Bl ¥ €
AT AT 2rhae 8 TfIa 2 |
(a) 39 fed o T AT bl &= I |
(b) 9 TNT h B 1 T HRT BT & 2
(c) oRIT g HshTHeh TN & ST TP ?
(d) 39 U Uk b foTw o wrarenf=t sxat =nfae 2
19. (a) Classify the following under base unit and derived unit :
(i) m'and (i) st
Which physical quantities do these units belong to ?
(b) Derive SI unit of pressure in terms of base units. 2+2
(a) TR I STURYA T qUT Fed— AT H Ffiehd hIfIT :
(i) m! T (i) st
3 AT fepm-fera wiferes Tfy & wafera 8 2
(b) TS SITTAS I STURT HTFHI o &Y H eI~ HIT |

20. What is ‘Redox reaction’ ? Explain redox reaction in terms of electron transfer with the

help of an example. Also explain what are oxidizing and reducing agents. 4
LSt rfuforan oo 8 7 YeTad ATkt o1 Solael afed TR g1 o Ugl | Ueh 3Tator
TR & THSST, | IT=Teh TR 7T hi ot e hifw |

ErE
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21. (a) Identify the organic compounds described below and draw their structures :

(i)  the organic compound which is used as a solvent and also in nail polish

removers.
(i1)) the organic compound which is used as a disinfectant called spirit.
(b) Name the carboxylic acids present in each of the following :
(i)  Vinegar and (i1)) Sour milk ?
(a) = Ifofd hrefeh AfiTen 6t Tg= SHIfTT T 37eh! T Ti=mT Gifu ;
(i) 98 Hree s 8 weh faomees & 9 7 37 9 uifas &1 gen & fog
SUIRT A 1 # |
(i) o8 Srafes it for8 ferfe & am o fossrmes & 9 1 SUF d &1 a8 |
(b) (i) oo 3R (if) We g # SUTed Hraiiaatcrsh Al o T faRa | i
&

22. Differentiate between mixed cropping and multiple cropping. Why is mixed cropping

and multiple cropping considered better from the perspective of food security ?
fafsa @t 3R 9 woercTe § 3R Farse | iy St 3R 55 waaicared S @ geE
H A TER RN A 1R ?

23. (a) An electric iron has markings 220 V — 50 Hz and 1 kW on it. Explain the significance

of these markings. Can this electric iron be used both on AC and DC ? Give reason.

(b) Calculate the resistance of the heating element of this electric iron.

(a) U foegd s&a@l W 220 V — 50 Hz 31 1 kW fagiferd 8 | 37 faal & wea 1
TUETEY | 1 39 faga sl @1 TR AC 3T DC gFi § R ST gehar 8 2 SR
AT |

(b) 39 forea s%adl o AT Uletde o fatie sht o i |

ErE
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24. Draw Transverse Section (TS) of a bisexual flower. Identify and label the parts having

the following description on it :
(1)  the part which carries ovules or female sex cells
(i1) the part which bears pollen

(ii1)) the female part from where pollen enter for fertilization

Teh IV Io0 <l TR -h1e 1 o Gitaw | 30 foa= # = aftfa vt 1 ggam
ATHITehd IV ;

(i) =@ v e srved =1 w1 I B € |

(i) o8 Wi Freeh fiat TR B # |

(i) <& HTeT T STET | Trrehvr f1sr o forg s td € |

25. What is meant by bleaching ? Write the chemical name and chemical formula of
bleaching powder. Name the raw material required to manufacture it. Write three

important uses of bleaching powder.

o @ == iy 2 7 el areet o1 qEEie Am aun TERe g3 fafau | guent
A H I 3T 9Tel e HIS o A7 Fa1sy, | seftfe ureet & ofiF Hawayet 3w ferfaw |

26. (a) An element ‘A’ has atomic number 12 and element ‘B’ has atomic number 8.

What type of bond they will form ? Give reason for your answer.

(b) Explain the property of the compound formed by elements A and B with respect

to its electrical conductivity.

(a) Th ad ‘A’ Sl TH] TE&AT 12 3 OAT a0 ‘B’ <h! TV T&AT 8 8 | §b s H
STToRaT & fohe TR T 3TEY ST 7 379 3T <h TTT SHROT TS |

(b) T ATUTad B s AR & o7 aTet AfTeh o1 qures saeht foregd =merehal o
HeH H TS |

ErE
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27. (a)

(b)

(2)

(b)

28. (a)

(b)
(©)

(a)

(b)

(©)

Can a body moving with constant speed still have acceleration ? Explain with the

help of an example.

Explain the concept of ‘action’ and ‘reaction’ in Newton’s third law of motion
with the help of an example. Can ‘action’ and ‘reaction’ act on same body ? Give

reason for your answer.

o1 TR =Tt § it five o wror 81 ehdl 2 7 3ST8W0T <hl T8idl § SR hifau |
YA o T o J T | Fepeaatl TR 9 wiafsRan i STE T 3T g
hifsre | = foram 37t gfefora weh € fuve W ™ St Eend @ 7 379 I 6 foi s

o
=3

State the postulates of Bohr’s model of atom. How does this model of atom

TSy |

explain the stability of atom ?
Explain the difference between Bohr circular orbit and energy shells of an atom.

The atomic number of an element ‘A’ is 10. Distribute the number of electrons in
its different energy shells and find its valency. Will element ‘A’ react with other

elements ? Give reasons for your answer.

TR o TLATY] AiSe i STTURUMY FATST | 98 WA Hise O] i Feoran i smen
FU BT ?

SR HISH 1 I HEST TN TV <6 ol Jard BN H IR THATT |

T A’ T TTTY] shAT 10 B | 38k fafir= ot arel il | SolagM1 ol &A1 1
forarem ShifsTe 37 aa <t TISTeRdT T ShINTT | R A< ‘A’ 3T et | 3rffsRR
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29. (a)

(b)

(©)

(2)

(b)

(c)

30. (a)
(b)
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(©)
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State the principle of working of a generator. Draw a labelled diagram of D.C.

generator.

What changes should be made in the structure of D.C. generator to increase the

strength of current generated by it ?

Why do we mention frequency of alternating current but not that of direct

current ?
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What are chromosomes ? Write any four characteristics of chromosomes.

Where are chromosomes located in human body ? Describe the distribution of human

chromosomes. What is the difference between autosomes and sex chromosomes ?

Explain chromosomal basis of sex determination in humans. Why is it wrong to

blame a woman if she does not bear a male child ?
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